Unit 1 – Polynomials I  (Practice Test)
1. Factor the following completely.
a)    16m2 – (5n – 2)2 


b)   5x2(a – 1) – 60(1 – a)
c)    64a3 – 125b3



d)   x3 + x2 – 22x – 40

2. Without dividing, 

a) find the remainder  when  
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 is divided by (2y – 1)
b) determine if  (x – 3)  is a factor of  
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3. If  
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  is divided by (x – 2), the remainder is -8.  If the polynomial is divided by (x + 3), the remainder is -88.  Determine the values of m and n.  

4. Solve the following for  
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a)  8x3 + 1 = 0
 
b)  2x3 + 5x2 – 28x – 15 = 0
c)  (x2 – 3x)2 – 8(x2 – 3x) – 20  = 0
5.  Determine the exact cubic equation of g(x)  if g(-3) = 0, g(2) = 0, g(
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) = 0  and  g(-1)  = 10.
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